MTH 264, Quiz #14, Spring 2024 Name KE Y

Instructions: Work the problems below as directed. Show all work. Clearly mark your final answers. Use
exact values unless the problem specifically directs you to round. Simplify as much as possible. Partial
credit is possible, but solutions without work will not receive full credit.

1. Find the slope of the tangent line and concavity (if possible) for the graph defined by x = 2 +
sint,y =1+ 2 cost at the point ¢ =§.
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2. Setup an integral to find the arclength of the curve x = arcsint,y = In(vV1 - t2) on the
interval [0, %] You do not need to evaluate the integral.
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3. Setup an integral to find the area of the surface generated by revolving x = étz, y=t+1lon
the interval [1,2] around the y-axis. You do not need to evaluate it.
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4. Convert the equation into the indicated coordinate system.
a. Convert xy = 2 into polar coordinates. e rsw =3 = dsebcsc©

b. Convert8 = 335 into rectangular coordinates.
+un©= Y —V3= Yk
= -J3X



